Algebraic Expressions
Exercise 6B

Q3

Answer :

(-4ab) x (-3a%bc)
— (—4><—3) x® (axa’xbxbxc)
=12 x (asbgc)
= 12a’b’c

Q4

Answer:

(2a?b?) x (-3a%



Answer:

= (% x :—;) X (xzxxxyxyﬂ))
=Zx x@H) 5 yl1i2)

- ey

Q6
Answer :
= (‘T‘" x _Tz) % (axa?xb3 xb“)
=2x a12) )
— L
Q7
Answer :
= (2% 2) % (a?xa? x 1 xbxe?)
=3 x a@) , L), 2
= 1a’b’e?

—13 7

= (T x 3) x (a:»(a.sz2 xbxcxcz)
_ —1_21 a4 o b(2+1] o el

_ 91,313
—lsaanbc3

— x4 5 ylar)

—1_4
— ity

Q11

Answer :

=(_?7x%x%ﬂ')x(x2xxxxsxyxy2 xy3)
_ % x x(2+143) XY(1+2+3)

__ 63 .6
T ys

Q12

Answer :

= (2X (—5) ps (—ﬁ)) * (a?x:a;xbxb2 xbxcxcz)
— 60 x 3(2“} % b(1+2+1] % c{1+2)
= 60a’b*c?



Q13

Answer:

- (—4)( (—ﬁ) X (—3)) X (12 XXXy xy)
— 79 % xl2H1) o y(2+1]

e

Q14

Answer:

:(—?3x1—:xi;) x(szxsxsxtxtzxuxuz)

— 1 x gl@+141) 5 4 (142) 5 y(142)
N P

Q15

Answer:

:(_TZX_T“ X_TS) x(u*xuxuzxvxv‘*xvs)
_ —TS « ultr142) o ¢(14343)

3 T T
—Suv

Q16

Answer :

= (—?.x—lx—l) X (a.)-(a.2 x ax b? xbszxcxcsxc
— gy altzen) 22 ()
= —3a'h’c®

_2 6 312
= a’b x 2 a’b
= (_TZ X '—5’) * (a2 x a® x%bz)
- —?4 » a213) 5 pl1+2)

— A a5p
=—a'b

When a =2 and b =3, we get:

—T232b= _T2x22x3= —8
gasbzz %x23x32 = %
L.HS. = fa’b x fa'h’ — —8x 2 - 20

5 5
R.HS. = ?a.ﬁbsz%1 x B xP = _3:55

L.HS. =RHS.

Hence, the result is verified.

Q19



Answer :

8 7 8 7 1
2y < g = (F ) @) - pxd
When ¢ =3 and y = 2, we get :

— 8.2 T oey? 192
LHS = 7%y x  xy* = 7 x4+ = 144

RHS. = ;x%5 = Zx39x2 = 144
L.H.S. = R.HS.
TV x gy = xy

Q20

Answer:
= (2.3x 1.2) X (35 x a? x b? x hz)
—2.76 x a5+2) x p(2+2)

— 2.76a’b*
When a = 1 and b= 0.5, we get:

2.76ab* = 2.76 x 17" x 0.5* = 0.1725

Q21

Answer:

— (8 (-20)) x (1 xux v x)

— 160 x ulz+1) x y(o41)
= 160u®v"
160" = 160 x 2.5° x 17 = 2500

Q22

Answer :
=(2x-15x=2)x(aZxaxbxbixexcd
(2 #) )

=3 x a@H) 5 plt2) o c(113)

= 3a’bic® \
Whena — 1,b — 2 and ¢ = 3, we get:

2,21 2. 12 _ 4 g
ga.b_ Fx1 Y — =

—15b%ac = —15%x 2 x1x3= —180

1.2 _ -1 2 Saan 0 O

?C = ?Xg = ?

LHS. = 2a’bx —15b’ac x5 ¢ = £ x —180x - = 648

RH.S. = 3233 — 3 {0802% x 39 — 648
L.HS. - R.HS.
. % 2h x —15b%ac x ?1 2 = 3a%hied

Q23
Answer :

=(%x—ﬁx—%)x(axbxbzxcxcxé)

=%><a)<b'[1'2:I x c(t113)

:%ab3c5

Whena =1,b = 2and ¢ = 3, we get:
1 1 3

Ea.bc - Ex1x2x3 = 3

—6b%c = —6 x2x3 = —T72

_13_ 1 — _
sl = 3x33_ 9

L.H.S. = Jabc x —6b% x —3c® = 3 x -72x -0 = 072
R.H.S. = %ab3c5 = %x1x23x35: 0972

L.H.S. = R.H.S.

sfabe x —6b'c x — 3¢ = Zab'c

Q24



Answer :

=(%x‘—g‘r x—8)x (axasxbxbszsxcsxc)

=% » a(1+s] Xb(1+2+s) Xc{s+1)

= Fa'bh’ct

Whena=1,b=2and c=3:

L.H.S.: (5 x =2 x—S)x (axasxbxbszsxcsxc)

] 5
= (%X%X—S)X(1X13X2X22X23X33X3)
407664

5
RHS: Pablct = 2 (11x20 x3) - 1ot
LHS. - RHS.

Hence, verified.
Q225

Answer :
=(‘T"X‘T2x‘77)x(azxaxbxb2xcxc"')

_ % a1 o plte2) o (1r2)

=S a'b’c

L.H.S.: (‘T" X_TE X%T)x(llexQx?xf]xB’)
— 06

R.H.S.: %‘xl“x?x&’ = —06

L.H.S. = R.H.5.
Hence, verified.




